Economics 102

Spring 2004 

Answers to Practice Questions 8

1. The demand for money 

a. is the same as the demand for bonds.
b. is the same as the supply for bonds.
c. increases whenever the price level falls.
d. Increases whenever aggregate income increases.
e. shows that people always demand as much money as possible
Answer
a. although the demand for bonds and the demand for money are related they do not have to be equal

b. the supply of bonds is determined by the Fed and is different from the demand for money

c. the opposite is true – lower price level will decrease the amount of money needed for routine transactions and which will have a negative effect on the demand for money

d. true (assuming other things stay constant) – higher income will lead to higher purchasing power and therefore more money will be needed for transactions; thus, an increase in the demand for money

e. not true since holding money carries an opportunity cost of the forgone interest on the bonds

2. Which of the following would be most likely to increase the quantity of money demanded (i.e., to cause a movement along a money demand curve)?

a. a decrease in real income

b. an increase in real income

c. a decrease in the interest rate

d. an increase in the cost of converting other assets into money

e. an increase in the price level
Answer

a. see 1.d., shifts the demand curve leftward
b. see 1.d., shifts the demand curve rightward
c. correct by the definition of the demand curve for money 

d. irrelevant to the question
e. see 1.c. shifts the demand curve rightward

3. In the short-run macro model, an open market purchase of bonds by the Fed will

a. raise the interest rate, reduce spending, and increase output. 

b. raise the interest rate, reduce spending, and decrease output.
c. lower the interest rate, reduce spending, and decrease output.
d. lower the interest rate, increase spending, and decrease output.
e. lower the interest rate, increase spending, and increase output.
Answer

An open market purchase of bonds will increase money supply and lower the interest rate. As a result of lower interest rate, the spending on business and household (e.g., mortgages) investment and consumer durables will increase causing an increase in output (there will be a partial offsetting effect of an increase in the output on the interest rates through an increase in the money demand due to higher real income).

4. Which of the following would lead to a rightward movement along a stationary demand for money curve?
a. a decrease in the interest rate

b. a decrease in the price level

c. an increase in the interest rate

d. an increase in the price level

e. an increase in real income

Answer 

b, d, and e lead to a shift. a represents a shift in the correct direction: lower interest rates implies a lower opportunity cost of holding money and therefore causes a higher quantity of money demanded.

5. The aggregate demand curve is derived using 

a. the sum of market demand curves from all industries.
b. product market demand curves and money market equilibrium. 
c. product market demand curves and the short-run Keynesian aggregate expenditure model. 
d. the short-run Keynesian aggregate expenditure model only. 
e. the short-run Keynesian aggregate model and money market equilibrium. 
Answer

By definition the aggregate demand curve represents a relationship between the (short-run Keynesian aggregate model) equilibrium and the price level. The effect of the price level is traced through shifts in the money demand curve which determines the interest rate through the money market equilibrium. In turn, the interest rate determines the aggregate expenditure and thus the equilibrium output in the Keynesian aggregate model.

6. A decrease in the price level leads to which of the following sequences? 

a. the money demand curve shifts leftward, the interest rate drops, the aggregate expenditure line shifts upward, and there is movement downward along the aggregate demand curve.
b. the money demand curve shifts rightward, the interest rate increases, the aggregate expenditure line shifts downward, and there is movement upward along the aggregate demand curve. 
c. the money demand curve shifts leftward, the interest rate drops, the aggregate expenditure line shifts downward, and there is movement upward along the aggregate demand curve. 
d. the money demand curve shifts rightward, the interest rate increases, the aggregate expenditure line shifts upward, and there is movement downward along the aggregate demand curve. 
e. the money demand curve shifts leftward, the interest rate drops, the aggregate expenditure line shifts upward, and there is movement upward along the aggregate demand curve. 

Answer


A drop in price level will shift the money demand curve leftwards, see 1.c. As a result the interest rate will go down causing the aggregate expenditure to increase, see 3. The short run equilibrium output will increase, which by definition of the aggregate demand curve (a inverse relationship between the equilibrium output and the price level, the output level on the horizontal axis) means a downward movement.

7. Which of the following would shift the aggregate demand curve to the right? 

a. increases in government purchases, investment spending, autonomous consumption, taxes, or the money supply 

b. increases in government purchases, investment spending, autonomous consumption, or the money supply 

c. decreases in government purchases, investment spending, autonomous consumption, taxes, or the money supply 

d. increases in government purchases, investment spending, autonomous consumption or taxes 

e. decreases in government purchases or investment spending, and increases in autonomous consumption, taxes, or the money supply 


Answer

a. is incorrect because a permanent increase in taxes would shift the family of the aggregate expenditure curves downwards and thus would decrease the equilibrium output for any price level and corresponding interest rate. This means that the aggregate demand curve would shift to the left.
b. is correct since all increases shift the aggregate expenditure up directly or through the interest rate.

the reasons why the remaining answers are incorrect  are analogous.

8. If the Fed conducts an open market purchase of bonds, which of the following will happen? 

a. the interest rate will decrease, the aggregate expenditure line will shift upward, and the aggregate demand curve will shift leftward 

b. the interest rate will increase, the aggregate expenditure line will shift upward, and the aggregate demand curve will shift rightward 

c. the interest rate will decrease, the aggregate expenditure line will shift upward, and the aggregate demand curve will shift rightward 

d. the interest rate will decrease, the aggregate expenditure line will shift downward, and the aggregate demand curve will shift rightward 
e. the interest rate will increase, the aggregate expenditure line will shift downward, and the aggregate demand curve will shift leftward 

Answer


This question is analogous to 6 but the difference is that the entire family of the aggregate expenditure curves will be shifted (i.e. we will observe a shift in the AD curve rather than movement along it). A market purchase of bonds increases money supply which leads to a decrease in the interest rate. As a result spending increases and the aggregate expenditure line sift upward. The equilibrium output will increase (for all price levels) and the aggregate demand curve will shift to the right. 


9. The AS curve 

a. indicates the markup at which firms are willing to supply a given level of output. 

b. is derived from equilibrium conditions in the money market. 

c. has a positive slope because an increase in real GDP causes an increase in the cost of resources. 

d. is found by summing up the supply curves of all the firms in an economy. 

e. illustrates how a change in the price level affects total output. 


Answer

a. is incorrect because w/o knowing the unit costs we cannot infer the markups of the firms

b. is incorrect b/c money market is irrelevant

c. is correct and represents an assumption underlying the structure of the costs

d. is incorrect by definition; in addition, if the real GDP changes the supply curves of the firms will change as well

e. this is a characteristic of the aggregate demand curve

10. If output increases, which of the following would occur? 

a. prices of non-labor inputs, input requirements per unit of output, and unit costs would all increase, and the economy would move downward along the aggregate supply curve 

b. prices of non-labor inputs, input requirements per unit of output, and unit costs would all decrease, and the economy would move downward along the aggregate supply curve 

c. prices of non-labor inputs, input requirements per unit of output, and unit costs would all decrease, and the economy would move upward along the aggregate supply curve 

d. prices of non-labor inputs, input requirements per unit of output, and unit costs would all increase, and the economy would move upward along the aggregate supply curve 

e. prices of non-labor inputs and input requirements per unit of output would increase, unit costs would decrease, and the economy would move downward along the aggregate supply curve 
Answer


As output increases the economy moves upward the aggregate supply curve (this rules out a., b., and e. Finally, c. is incorrect because as output grows the demand for inputs will increase, as a result, their prices will increase, and the unit costs will increase. Thus, d. is the correct answer.


11. Which of the following will shift the aggregate supply curve upward? 

a. a decrease in world oil prices 

b. bad weather, which increases farmers' costs per unit of output 

c. increases in consumer spending 

d. an increase in the price level 

e. technological changes that improve worker productivity 
Answer


a. leads to the opposite effect (a decrease in input prices)


b. is correct since the unit costs of the output go up


c. irrelevant


d. irrelevant


e. may only have the opposite effect

12. The intersection of the AD and AS curves 

a. gives the price at which the quantity of goods demanded equals the quantity supplied 

b. represents sustainable levels of nominal GDP and prices 
c. represents the optimal output and employment levels for the economy 

d. is the short-run macroeconomic equilibrium point 

e. represents one of many possible equilibria, given the two curves 


Answer is immediate from definition
13. If a demand shock causes an economy to operate at a point above 

potential GDP, then 

a. the AS curve will shift to return the economy to the original point of equilibrium. 

b. the economy will correct itself through rising wages and prices.
c. this short-run equilibrium point will become the new long-run equilibrium GDP. 

d. the economy will correct itself through falling wage rates and prices. 

e. the shock is said to be a negative demand shock. 


Answer


a. is incorrect since there is no reason for the AS curve to shift


b. as long as the output is above the full employment level there will be an upward pressure on the real wage (the firms will have to compete to hire the scarce labor), resulting in the higher unit costs and overall prices. This process will continue until the economy returns (in the long-run) to the full employment level of the output.


c. irrelevant


d. incorrect, since the wages cannot fall; and even if they did it would increase the output even more


e. a negative demand shock has a negative effect on the output

14. According to the self-correcting mechanism, if a negative demand shock occurs, 

a. a decrease in wage rates will lead to a decrease in the price level so that the economy returns to full employment. 

b. the price level will increase, causing equilibrium GDP to return to its original level. 

c. the wage rate will eventually increase, restoring GDP to its full-employment level. 

d. the price level will remain constant. 

e. there will be no effect in the long run. 


Answer


This question is the counterpart of the previous one

15. After a negative demand shock, what are the expected long-run 

adjustments? 

a. wages rise, price level rises, and output falls back to potential 

b. wages fall, price level rises, and output falls back to potential 

c. wages fall, price level falls, and output increases back to potential 

d. wages fall, price level rises, and output increases back to potential 

e. wages rise, price level falls, and output increases back to potential 
Answer


Similarly, this question is the counterpart to question 13. 
